| dE/dx estimator 1 |

Entries 63664

0.25

0.2

0.15

0.1

0.05

2.894
1.386

Mean
Std Dev

762610
2.88
1.367

Entries
Mean
Std Dev

Ratio
=

0.9

......

LINLINLL I L L S N
Py

0.8

o

0.06¢}

0.04

0.02

Rati

0.95%

o 0]

-

N tth 2 +

1 2 3 45 6 7 8 9 10

dE/dx, harm?2

| dE/dx estimator 2 |

0.25

0.2

0.15

0.1

o

o

a
|

- - - Entries
- : : | Mean
Std Dev

Entries
Mean
Std Dev

..................................................................

...........

......

1 2 3 45 6 7 8 9 10
dE/dx, trunc40

—=— DQM_CKF_TTbase

— DQM CKF_TT retrainOldFiles125_v2_prelimWP_epoch4

63664

.................................................

CTaTesS . OOUUF

E Mean
: | std Dev

¢ | Entries
..| Mean

Std Dev

10 20 30 40 50 60 70 80

dE/dx number of measurements

0.1

a7§-~-§
Y EE——
oo IS
I
o

0

TS
| Mean
:-| std Dev

0.3584
0.6973

62610
0.3657
0.7026

| Entries
Mean
. [ Std Dev

SLRL A e e Il il il s i

Rati
=

o+
=

T

=
bR i

0.95

0

10 20 30 40 50 60 70 80

dE/dx number of measurements with saturation



	Contents
	Page 1


